Best model for HELP_J143117.560+341401.933 atz = 1.226 x%=0.71
OPTx?=0.91 IRx?=0.06 threshold (OPT IR)=17.8 [um]

Stellar attenuated

102 I 15 Stellar unattenuated
E —— Dust emission
] —— AGN emission
14 = Model spectrum
10 E ® Model fluxes
] M oObserved fluxes
— 0 E
= 10
£ ]
-1
X 10 T
=) § K'h\'"‘\m.‘__ m .
[T 1 ™ - :
10—2 4 m "
3 1 )a AN
N
1073 4 :
x ]
2 -4
074 3
= ] ==f=(Obs-Mod)/Obs
=}
S
n
R o [ B R 1| T I B e
—_
(O]
2
5 ]
© —1 T T T T T T
13
cqé 100 10! 102 103 104 10

Observed wavelength [um]



